
Multiplication (Equal Groups)

1. 

There are 7 counters in each group.

2. 3 + 3 + 3 + 3 = 12; 7 + 7 + 7 = 21

3. A: 2, B: 1, C: 3

4. Sandra is incorrect. The third group has only 9 straws.

5. Ezekiel is incorrect. He has written four packs of four, rather than four packs of six. His 

number sentence should be 6 + 6 + 6 + 6 = 24. 

6. If Brenda buys 3 bouquets of 7, she will have 7 + 7 + 7 = 21. If she buys 3 bouquets of 8, 

she will have 8 + 8 + 8 = 24. If she buys 3 bouquets of 9, she will have 9 + 9 + 9 = 27.
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